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Linear Motion Summary

Speed is a __________ quantity.  Values can only be ___________.  The equation is ___________ over _________.  Velocity is a ___________ quantity.  The equation is ____________ over _________.  Values can be ____________ or ____________.  Negative means _____________.  Speed and velocity have the same __________ but velocity is speed with ______________.  In physics, we use the Greek letter ________, which is a little triangle, to represent ____________ which means we are subtracting 2 values of the same measurement.  We always do _________ minus __________.  Acceleration is change in _____________, which means a change in _____________ and/or _____________.  Negative acceleration means _________ _________.  Because acceleration is how you’re changing how you’re changing your position, it involves 2 rates which means dividing by 2 __________ units, so the units are constructed distance / time / _________.  _________________ requires a non-zero net force, ____________ velocity requires a net force of zero.  Because of this, we _________ feel accelerations, and __________ felt constant velocity.  Acceleration due to gravity here on earth is ____________.  This means that ____________ objects gain ____ m/s every second, and ______________ objects lose 9.8 m/s every second.  This also means the time it takes for a ball to go up will be ____________ __________ the time it takes for that ball to come back down the same distance.  At the peak of its path, a ball thrown upward has a velocity of _________ and an acceleration of ___________.  The equation for falling distance is d = _____________.  The equation for falling velocity is v = _________.  No acceleration ____________ mean no movement.  All motion is _____________ because it is based on a frame of ____________.
